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MODEL QUESTION PAPER (TERM - 1)

CLASS - +2
SUBJECT - MATHEMATICS
Time : 3 hours M.M. : 50
1. The function f: A — B defined by f (x) = 4x + 7,
x € Ris: 1
(a) One-one (b) Many-one
(¢) Odd (d) Even
2. The function f: R® R defined by f(x) =3 —4xis 1
(a) Onto (b) Notonto
(c) None one-one (d) None of these
3. The binary operation * defind on set R, givenby a * b =
a+b2fora11a,beRis 1
(a) commutative
(b) associative
(c) Both (a) and (b)
(d) None of these
4. LetR be arelation on set of lines as L1 R L2 if L1 is

perpendicular to L2. Then 1
(a) RisReflexive

(b) Ristransitive

(c) Rissymmetric

(d) Risanequivalence relation

5. The principle value of sin”'a (V3/2) is

2n

(a) 3
T

(©) 1

6. Ify= sec”' x then

(a) 0<y<m
LN
© <Y<y

(b)

(d)

(b)

(d)

o a

w|a

| a

None of these

7. The principle value of sin”! (sin 2%) is

2

(a) 3
i

(c) 5

8. sin r_ sin”! (_—1j is equal to
3 2

1
(a) 5

1
©) 1

(b)

(d)

(b)

(d)

w3

ol a

1



10.

11.

12.

13.

14.
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The number of all possible matrices of order 3 x 3 with

eachentry O or 1 is: 1
(a) 27 (b) 18

(c) 81 (d 512

If A and B are symmetric matrices of same order, then
AB-BAisa 1

(a) Skew-symmetric matrix

(b) Symmetric matrix

(c) Zeromatrix

(d) Identity

If a matrix has 6 elements, then number of possible

orders of the matrix can be 1
(a) 2 (b) 4
(c) 3 d 6

The diagonal elements of a skew symmetric matrix are 1
(a) all zeroes

(b) are all equal to some scalar k (# 0)

(c) canbe any number

(d) none of these

Let A be a non-singular square matrix of order 3 x 3,

then [A. adj A] is equal to 1
(@ AT O
(c) 1Al (d 31Al

The area of a triangle with vertices (-3, 0), (3, 0) and
(0, k) is 9 sq. units. Then, the value of k£ will be

(@) 9 (b) 3
() -9 d 6

15. The derivative of tan (% - x) is equal to

16.

17.

18.

19.

2( T
(a) sec (E_XJ (b)
(c) cosec’x (d)
d? y
2 3
If x=¢t",y=t", then — =
Y dx?
3 b
@ 3 (b
i d
© 5 @
Derivative of sin x w.r.t. cos x is
(a) —cotx (b)
(c) tanx (d)

If vy =log +/tan, then ? is
X

2
—COSsS€C X

none of these

cot x

none of these

sin 2x

none of these

(a) cos 2x (b)
(c) cosec 2x (d)
The function (x) =4 - 3x + 37— is:
(a) decreasingonR (b)

(c) strictly decreasing on R

(d) strictly increasing on R

increasing on R



20.

21.

22.

23.
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The line y=x + 1 is a tangent to the curve y2 =4x at the

point 1
(@ (1,2) (d @D
(© (-1.2) (d (-1,-2)

Check the injectivity and surjectivity of the function :
(i) f: N N given by f (x) =’
Or

Show that f: [-1, 1] ® R, given by f(x) =(2) xx +is
one-one. Find the inverse of the function f: [—, 1] -
Range f

Express in surplest form tan_l( COS:X ) 3
I-sinx
|’ T
—<x<—
2 2
Express the matrix @S sum of symmetric and skew
symmetric matrix. 3
6 -2 2
2 3 -1
2 -1 3
Or
2 0 1
Find A>~5A+6lifA=|2 1 3
1 -1 0

24.

25.

26.

217.

28.

Show that

1 1 1
a b c|l=(@-b)(b—c)(c—a)(a+b+0c) 3
3 b3 6‘3

Finde the value of & so that the function f, defined by 3

Fog Rt xss
M =V30—5 if x>5 is continuous at x =5

If y = 3¢” + 2¢> then prove that

2
a7y _ ﬂ+6y:0 3
dx’? dx

Or

Find d_ic) if sin’ y+cosxy= x

Solve the following system of equations by matrix
method. 6

xX—y+z=4
2x+y-3z=0
X+y+z=2

(a) Find the equations of tangent and normal to

2 2
X y .
hyperbola — — I 1 at point (x,, y,)
a



8 (+1 & +2) July 2022 (New File) 10-7-2022

(b) Find approximate value of /253 6
Or

(a) Find two positive numbers x and y such that their
: 25. .
sum is 35 and the product x"y is maximum.

(b) Find the interval in which the function of given by
fx)= 25—’ —12x+ 1is strictly increasing
and strictly decreasing.



